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VIVEKANAND COLLEGE, KOLHAPUR (EMPOWERED AUTONOMORS)

B.Sc. Part- I (Statistics) (Sem-T)
Unit Test
Subject: Descriptive Statistics -1

Date: |6 /og)zozf? Marks: 10

Name of the Student: (I] odq NE PGO ha M chj—\ f'ﬂ RollNo. 33 |2

1. All the partition values can be estimated graphically from .......

\~_  a) Frequency curve b) Frequency polygon

\sOgive curve d) Histogram
2, f_Which of the following scale is best scale in measurement of data?
b a) Nominal scale \ b Tnterval scale
¢) Ordinal scale d) Ratio scale

3. Group of individuals according to income such as poor, middle class and rich is an example of ....
L

a) Nominal scale b) Interval scale
\S}Ordinal scale d) Ratio scale
\j_./.-A]gebraic sum of deviations taken from the respective mean is ....
2y 0 b) 2 c)l d) None of these
5. If the constant value 50 is subtracted from each observation of set, the mean of the set is ......
\#r Increased by 50 b) Decreased by 50
¢) Not affected d) 50 times the original value

\ﬁ.—/For a symmetric frequency distribution first quartile is 142 and Q.D is 18 then mean is ....

way~ 160 b) 140 c) 120 d) 110
.~Mean square deviation (M.S.D.) is minimum when the deviations are taken from ....
a) Mean b Median ¢) Mode d) Q1
2l ﬂe first order moment about mean is .....

b) One ¢) Mean d) Variance
¢ most repeated observation in data set is called as.......
a)~Mean b) median \SHiode d) all of these

.. Two ogive curves, less than type or greater than type, intersect at point -=------
a) (N/2,mean)  b) (N/2,median) c)(N/2,mode) ~&{median, N/2)
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Vivekanand College Kolhapur (Empowered Autonomous)
B.Sc. II Semester IV

Unit Test
Paper: Introduction to Reliability Theory & Testing of Hypothesis
Date:  30/01/2025 Total Marks: 20M

Instructions:

1. Attempt all questions
2. Each question carries 5 marks

1 Define the terms:
a) Composite hypothesis
b) Critical region
2 Define test statistic. Explain general steps in procedure of testing of

hypothesis.
3. Explain the procedure of testing significance between two population mean in

normal population.
4. Explain the procedure of testing significance of population correlation

coefficient & sample correlation coefficient in normal population.
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VIVEKANAND COLLEGE, KOLHAPUR (EMPOWERED AU’ I'UN()M()U';;

B.Sc. Part- 11 (Statistics) (Sem-111) MINOR
Unit Test
Subject: Predictive Modelling

Date: |9-9~-24 Marks: 10
T
Name of the Student: Desay  Athaw Ashok Roll No. 3762

Q.1

%

N

N

N

Select correct alternative,

)

N

-

"

G

\V4

P

[08]

The maximum value of Corr (X;, aX;+bXs+c) is seeeeev
A Rin B) Rip

C) Run D) s

‘2)  The Multiple regression coefficient is invariant under the change of ......
A) origin B) scale
C) neither origin nor scale _D)—both origin and scale

3)  The order of residual X234 is ...
A) 0 B) I
) 2 —By 3

_4)  The three regression planes coincides if —-, where |R| is the determinant of simple
correlation coefficients
(R[=0 B) |R|=1

0 RI>0 D) [RI<0

5)  In regression analysis the difference between observed value and estimated value of

"~ avariableiscalled.......

A) error of estimate By residual
C) neitheranorb D) bothaandb

6)  Intime series seasonal variations can occur within a period of .......
A) Four years B) Three years

V/C)/ One year D) Nine years
n‘AVgﬂl usual notations, XXz Xjn=—
B) 1

C; infinity D) none of these

8) In time series analysis the method of moving averages, is used to estimate.........
A)  seasonal variation B)—ftrend
C) Cyclic variation D) Irregular variation

The maximum value of Corr (X1, aX2+bXs+c) is —-

/ /A‘)/ Riz B) Rais

Ran D) 113

10) Mean of any order residual is always .......

A) 0 B

C) infinity D) none of these
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VIVEKANAND COLLEGE, KOLHAPUR (EMPOWERED AUTONOMOUS) ( e/ .
B.Sc. Part- I1 (Statistics) (Sem-111) MINOR 50X
Unlt Test /V
Subject: Predictive Modelling .
Marks: 10

Date: |? m?i'f
i

Name of the Student: B Rosal2 E'a_,‘ laxmi Udaysinh  RollNo. 38 0

Q.1.  Select correct alternative, [08]
1) The maximum value of Corr (X1, aXztbXs+c) I8 mmmeeee
N A Ria B) Run
C) Run D) a3
2)  The Multiple regression coefficient is invariant under the change of ......
" A) origin B) scale
A C) neither origin nor scale DY both origin and scale
3)  The order of residual X2 is.....
A 0 B) |
N )y 2 D) 3
4)  The three regression planes coincides if -----, where |R| is the determinant of simple
: correlation coefficients
L VA [R[=0 B) [R|=1
C) IRI >0y D) [R[<0
5)  Inregression analysis the difference ?tween observed value and estimated value of
\/ a variable is called....... ,
A) error of estimate o) residual
C) neitheranorb D) bothaandb
6) In time series seasonal variations can occur within a period of .......
~" A) Fouryears B) Three years
“€] One year D) Nine years
7) . With usual notations, Z Xz Xj23 = ----
AT 0 B) |1
7 C) infinity D) none of these
In time series analysis the method of moving averages, is used to estimate......
\/aj A)  seasonal variation ~B) trend
C) Cyclic variation D) Irregular variation
/9) ' The maximum value of Corr (X1, aX2+bX3+c) is -----
. %
e A) Rias B) Ramns
£ Rsiz D) 123

10) Mean of any order residual iS'always .......

“/\-#T 0 B) 1

0 infinity D) none of these
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VIVEKANAND COLLEGE, KOLHAPUR (EMPOWERED AUTONOMOUS)

B.Se. Parts 11 (Statistics) (Sem-1V) MINOR (
Unit Teat \ [0
Subject: Applied Statiatics '

Date: ll)oalam

Murks: 10

Name of the Student:  Detay Mhawy Ashok Roll No. 74013

1) Index numbers measure the average .,
= elative changes B) Percentage incronses
~_ ©) Absolute changes D) Proportionate changes
2) Base year of index number s . ..
\ - A) Any convenient year —B)Year of stability
“ C) Preceding year D) Succeeding year
3) Price index number needs . "
4A) Price in Rs. per unit

; B) Price in fixed number of units
. \ C) Quantities in same units
+_DP¥No restictions on units of either prices or quantities

\ 4) If price index number is 150 then the interpretation is ...
A) Price of each commodity increases by 50 Rs.
_ ~B) Price of each commodity increases by S0%
. C) Average rise in prices by 50%
D) Average rise in prices is by 50 Rs.
. 3) Index numbers are called as ...
.~ A) Economic thermometer B) Social barometer
\ £y Economic barometer D) Social thermometer
6) Laspeyre's index numbers suffers from ...
<) Upward bias B) Either upward or downward bias
‘. et C) Downward bias D) No bias

7) . Statistical quality control is based on the theory of
.~ (@) probability  (b) sampling _{ey™6th (a) and (b)  (d) neither (a) nor (b)

8). Variations in the quality characteristic of a product is due to
(a) chance causes  (b) assignable causes —4eyboth (a) and (b)  (d) neither (a) nor (b)

9). Chance variation in respect of quality control of a product is
- (a) uncontrollable (b) not effecting the quality of a product
X, (6) tolerable (d) all the above

10). Faults due to assignable causes:

W4 ,@-ean be removed (b) can’t be removed
(¢) can sometimes be mm‘\:cd (d) all the above
- T




B.Sc. Part- II (Statistics) (Sem-1V) MINOR
Unit Test
Subject: Applied Statistics

VIVEKANAND COLLEGE, KOLHAPUR (EMPOWERED AUTONOMOUS)/ "f lr;
' I\‘-..
Date: | |—2-2S Marks: 10

[0/

Name of the Student: Bhocale E‘?‘j. laxm) Udag_s'lhh Roll No. 740

1) Index numbers measure the average ...

- «4) Relative changes B) Percentage increases

C) Absolute changes D) Proportionate changes
2) Base year of index number s . .

A) Any convenient year - «B) Year of stability
. C) Preceding year D) Succeeding year
3) Price index number needs ... -

) Price in Rs. per unit -
_ AA%;‘) Price in fixed number of units
& C) Quantities in same units
D) No restrictions on units of either prices or quantities

-

4) If price index number is 150 then the interpretation is ...
A) Price of each commodity increases by 50 Rs.
) Price of each commodity increases by 50%
/cg) Average rise in prices by 50%
X D) Average rise in prices is by 50 Rs.
5) Index numbers are called as .

" A) Economic thermometer B) Social barometer
4 +C) Economic barometer D) Social thermometer
6) Laspeyre’s index numbers suffers from ...
<A) Upward bias B) Either upward or downward bias
/ C) Downward bias D) No bias

7) . Statistical quality control is based on the theory of
L~ - (a) probability  (b) sampling  (c)both (a)and (b)  (d) neither (a) nor (b)

8). Variations in the quality characteristic of a product is due to
/(a) chance causes  (b) assignable causes Mom (@) and (b)  (d) neither (a) nor (b)

9). Chance variation in respect of quality control of a product is

X4) uncontrollable (b) not effecting the quality of a product
(c) tolerable (d) all the above

10). Faults due to assignable causes:
can be removed (b) can’t be removed

(9) can sometimes be rerhoved  (d) all the above



